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1. n�Û��§Ã���ãKn´î.ãºn�Û��§Ã���ãKn=�3î.�´
Ø�3
î.£´º

Solution. (a) Ï�î.ã7LÑ´ó:§·�q��Ã���ãKn¥z��:�Ýê
þ�(n − 1)"Ïd(n − 1)7L´óê§@oµn7L�Ûê"=µn = 2k + 1, (k =
1, 2, 3, · · · )"

(b) duKn=�3î.�´
Ø�3î.£´§KKn¥k�=k2�Ý�Ûê�º:§@
oµ(n = 2)"

2. �G´kn�(:�{üã§Ù��Ýδ(G) ≥ (n + q)/2§y²G¥�3�¹?¿q^pØ�
�>�M�î£´"

Solution. Q,´?ØpØ��>§�½Â��´�>�à:pØ­E§¤±���é2^
>±þ5?Ø§=q ≥ 2(q ∈ N+)§Ó�!:ê����4§=n ≥ (2 ∗ q)"
Ø���5§�q = 2, 3, · · · ,m,@o!:ê��n = 2m or n = (2m + 1)§üöaq§y
±n = 2m�~5)�"M�î£´´!:Ú>�g²L�Ø­E�£´§¤±·�b½y
3£´�g²L�!:Ú>§¿£��:§SÒ�g?�§=8c£´�µ
L0 = [v1, e1, v2, e2, v3, e3, v4, e4, v5, e5, v6, e6, v7, e7, v8, e8, · · · ,
v(2m−3), e(2m−3), v(2m−2), e(2m−2), v(2m−1), e(2m−1), v(2m), e(2m), v1]
�q = m�§z�!:���Ý�µ(n+ q)/2 = 1.5m§���3§y3b��´z�!:�
Ú��!:�ë§¤±z�!:��"1�Ý§¤±±q = 25`§·��±�EXe£´÷
vK8�¦µ
L1 = [v1, e1−3, v3, e2, v2, e2−4, v4, e4, v5, e5, v6, e6, v7, e7, v8, e8, · · · , v(2m), e(2m), v1]
Ù¥e1−3!e2−4´2�pØ��>¶eq = 3§EXþ�EM�î£´§Ù¥e1−3!e2−4Úe5´3�
pØ��>§�daíµq = m�§��EXe£´÷v�¦µ
L2 = [v1, e1−3, v3, e2, v2, e2−4, v4, e4, v5, e5−7, v7, e6, v6, e6−8, v8, e8, · · · ,
v(2m−3), e(2m−3)−(2m−1), v(2m−1), e(2m−2), v(2m−2), e(2m−2)−2m, v(2m), e(2m), v1]
Ïdéuq = 2, 3, · · · ,m§þk÷v�¦�M�î£´"

3. 16�÷¡�?è�kõ�«�{�±3^��^=�±�|¤0000�1111�16|ÑÑº
£J«§�±¦^De Bruijn sequence5O�¤

Solution. �âDe Bruijn sequence:
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